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1-4. Explain the difference between density dependent population growth regulation and density independent population growth
regulation. Give an example from nature for each.
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5-8. Draw out and explain what a metapopulation is, State the TWO things that metapopulation dynamics are based on,
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9-12. Draw out and/or explain what is meant by the "carth is green” argument for how comenunitics are organized. Explain the
reason why some people say the number of trophic levels makes a difference in "carth is green” argument,
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13-16. theories that attempt to explain why there are more species as you get closer to the equator are the competition

theory and predation theory. Explain the differeace between these two theories.
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17-20, Assume you are a conservation biologist and are responsible for managing the coaservation of a large forest area. Explain

why it makes a difference in how you would manage the forest depending on whether you bold to the equilibrium view of
a community or nonequilibrium view of a community.
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